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QUESTION 1

Your web page design company is designing websites for all the stores in a local mall. Your company must create a
consistent "look and fool" for these sites.

After this "look and feel- project has gone through demonstration, enhancement and approval iterations with the mall\\'s
Jions, you job is complete and the development of the actual B2C (Business to-Client) system will be handled by a
different firm

Which architecture is most appropriate for your prototype project?

A. Two tier, web-centric

B. Three, web-centric

C. Three-tier, enterprise-centric

D. Three-tier, application-centric

Correct Answer: A

QUESTION 2

While analyzing an existing web application, you observe the following issues in the source code: Duplicate control code
is scattered throughout various view.

Business and presentation logic are mixed within these view.

The next phase of the project involves refactoring the existing code to address these two issues.

Which design pattern, if employed in the refactoring exercise, would most directly address the two issues?
A. Service to Worker

B. Dispatcher view

C.DAO

D. Composite View

Correct Answer: A

QUESTION 3

Oasis Corporation has decided to develop a single Instance multi-tiered application with its existing EIS resources. You
are the technical lead for the Integration team responsible for providing the following: A common Interface that can
easily access the heterogeneous EIS resources

Generic transaction mechanism support for EIS resource managers

A connection pool to legacy EIS resources
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Which two technologies would you use to meet these requirements?
A.IMS

B. JDBC

C.JCA

D. JAX-WS

E. JAX-RS

Correct Answer: BC

QUESTION 4

You are the architect for a patient management system with an HTMLUI. Currently, it is used by ward nurses who
access the system using dockable tablet computers. The application uses the HttpSession object to store information. In
phase two of the implementation, nurses will also have access through smart phones. These phones will use a native
client rather than HTML, and will access the same business logic using a Web service.

Which two are optimal methods to manage conversational state in the new version of the system?

A. The HTML Ul and native clients both use HttpSession objects.

B. The HTML Ul and native clients both use stateful session beans.

C. The HTML Ul and native clients both use stateless session beans.

D. The HTML Ul uses an HttpSession object, native clients create a session management object.

E. The HTML Ul and native clients both use singleton beans.

Correct Answer: BD

QUESTION 5
A company provides call center support for corporations world-wide. Each agent in the call center can be assigned to
multiple call center customers. All the company\\'s customers use Windows based user interfaces and it has Just signed

a new customer that uses a Java EE back end and wants a rich interface.

The company is developing a user interface for the new customer with the following requirements: Customer service
representatives (CSRs) must be able to work with minimal training on the application.

CSRs must be able to switch between call center systems quickly.

Screens must have a windows look and feel.

2000 agents spread across four locations must be able to use the system.

Which recommendation would you make to this company about the user interface (Ul)?

A. Write the Ul using JSP and JSTL.
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B. Write the Ul using JSPs with embedded script lets.
C. Write the Ul using AJAX, Accessing servlets directly.
D. Write the Ul using Java Swing and describe using JNLP.

Correct Answer: D
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